ALMOST QUATERNION STRUCTURES OF THE SECOND KIND AND ALMOST TANGENT STRUCTURES

By Kentaro Yano and Mitsue Ako

Dedicated to Professor S. Ishihara on his fiftieth birthday

§0. Introduction.

A set of three tensor fields F, G and H of type (1, 1) in a differentiable manifold which satisfy

$$F^2 = -1, \quad G^2 = -1, \quad H^2 = -1,$$

 $F = GH = -HG, \quad G = HF = -FH, \quad H = FG = -GF$

is called an *almost quaternion structure* and a differentiable manifold with an almost quaternion structure an *almost quaternion manifold*.

If there exists, in an almost quaternion manifold, a system of coordinate neighborhoods with respect to which components of F, G and H are all constant, then the almost quaternion structure is said to be *integrable* and the almost quaternion manifold is called a *quaternion manifold*.

In a previous paper [8], the present authors studied integrability conditions for almost quaternion structures.

A set of three tensor fields F, G and H of type (1, 1) in a differentiable manifold which satisfy

$$F^2 = -1$$
, $G^2 = 1$, $H^2 = 1$,
 $F = -GH = HG$, $G = HF = -FH$, $H = FG = -GF$

is called an *almost quaternion structure of the second kind* and a differentiable manifold with an almost quaternion structure of the second kind an *almost quaternion manifold of the second kind*.

The main purpose of the present paper is first of all to study integrability conditions for an almost quaternion structure of the second kind and then to apply the results to the study of almost tangent structures and tangent structures.

Received February 2, 1972.

§1. Preliminaries.

Let P and Q be two tensor fields of type (1,1) in a differentiable manifold of class C^{∞} . The expression

(1.1)
$$[P,Q](X, Y) = [PX, QY] - P[QX, Y] - Q[X, PY] + [QX, PY] - Q[PX, Y] - P[X, QY] + (PQ+QP)[X, Y],$$

X and Y being arbitrary vector fields, defines a tensor field of type (1, 2) called the Nijenhuis tensor or the torsion tensor of P and Q. We note that [P,Q](X, Y) = -[P,Q](Y,X), [P,Q](X,Y)=[Q,P](X,Y) and if Q=+1 or -1, 1 denoting the unit tensor, then [P,Q] vanishes identically.

As in the previous paper [8], we need following definitions and formulas. If S is a tensor field of type (1, 2) and N is a tensor field of type (1, 1), then $S \equiv N$ is defined to be

$$(1.2) \qquad (S \top N)(X, Y) = S(NX, Y) + S(X, NY)$$

and $N \wedge S$ to be

$$(1.3) (N \land S)(X, Y) = N(S(X, Y))$$

for arbitrary vector fields X and Y. $S \land N$ and $N \land S$ are both of type (1, 2). Then for three tensor fields, L, M and N of type (1, 1), we have [2]

$$(1.4) \qquad [L, MN] + [M, LN] = [L, M] \land N + L \land [M, N] + M \land [L, N]$$

and for a tensor field S of type (1, 2) and tensor fields M, N of type (1, 1),

$$(1.5) \qquad (S \land M) \land N - (S \land N) \land M = S \land MN - S \land NM$$

$$(1.6) (M \land S) \land N = M \land (S \land N).$$

§2. The almost quaternion structure of the second kind.

We consider in this section an almost quaternion manifold of the second kind, that is, a differentiable manifold in which there exist three tensor fields F, G and H of type (1, 1) satisfying

(2.1)
$$F^2 = -1, \quad G^2 = 1, \quad H^2 = 1,$$

 $F = -GH = HG, \quad G = HF = -FH, \quad H = FG = -GF$

We would like to study relations which exist between Nijenhuis tensors

formed with F, G and H.

The following argument is quite similar to that used in the previous paper [8], but since the difference from the previous one arising from the fact that we have here $G^2=1$, $H^2=1$ and F=-GH=HG instead of $G^2=-1$, $H^2=-1$ and F=GH=-HG in the previous case is so delicate that we repeat briefly the argument, similar to that used in [8].

We first put L=M=F, N=G in (1.4) and find

(2.2)
$$[H, F] = F \land [F, G] + \frac{1}{2} [F, F] \land G.$$

We then put L=G, M=N=F in (1.4) and find

$$(2.3) \qquad [H,F] = -[F,G] \land F - F \land [F,G] - G \land [F,F].$$

From (2.2) and (2.3), we find

(2.4)
$$[H, F] = -\frac{1}{2} [F, G] \land F - \frac{1}{2} G \land [F, F] + \frac{1}{4} [F, F] \land G$$

and

(2.5)
$$[F,G] \land F + 2F \land [F,G] + G \land [F,F] + \frac{1}{2} [F,F] \land G = 0.$$

We next put L=M=G, N=F in (1.4) and find

(2.6)
$$[G,H] = -G \land [F,G] - \frac{1}{2} [G,G] \land F.$$

We then put L=F, M=N=G in (1.4) and find

$$(2.7) \qquad \qquad [G,H] = [F,G] \land G + G \land [F,G] + F \land [G,G].$$

From (2.6) and (2.7), we find

(2.8)
$$[G,H] = \frac{1}{2} [F,G] \land G + \frac{1}{2} F \land [G,G] - \frac{1}{4} [G,G] \land F$$

and

(2.9)
$$[F,G] \land G + 2G \land [F,G] + F \land [G,G] + \frac{1}{2} [G,G] \land F = 0.$$

We put L=FG, M=F and N=G in (1.4) and find

$$(2.10) [H,H] = -[F,F] + [H,F] \land G + H \land [F,G] + F \land [G,H].$$

Equations $(2.2)\sim(2.9)$ are all same as in the previous paper [8], but equation (2.10) is a little different from (2.10) in the previous paper. We have the minus

sign in front of [F, F]. The difference comes from the fact that $G^2 = +1$ instead of $G^2 = -1$.

We then put L=FG, M=G and N=F in (1.4) and find

$$(2.11) [H,H] = [G,G] - [G,H] \land F - H \land [F,G] - G \land [H,F].$$

Thus, from (2.10) and (2.11), we find

(2.12)
$$[H, H] = \frac{1}{2} \{-[F, F] + [G, G] + [H, F] \land G \\ -G \land [H, F] - [G, H] \land F + F \land [G, H] \}$$

and

(2.13)
$$-[F, F] - [G, G] + [H, F] \land G + G \land [H, F] + [G, H] \land F + F \land [G, H] + 2H \land [F, G] = 0.$$

Equations (2.12) and (2.13) are also different from those in the previous paper [8].

Finally putting L=M=N=F, G or H in (1.4), we find

$$[F, F] \land F = -2F \land [F, F],$$

$$[G,G] \land G = -2G \land [G,G],$$

$$(2.16) [H,H] \land H = -2H \land [H,H].$$

In a previous paper, we proved a series of theorems which hold for an almost quaternion structure of the first kind. The formulas used to prove these theorems differ from $(2,3)\sim(2,16)$ above only by the sign of the term [F, F] in (2,10), (2,12) and (2,13) and consequently the theorems in the previous paper [8] having [F, F]=0 in the assumptions are also valid for the almost quaternion structure of the second kind. Thus Theorems $3.1\sim3.4$ in the previous paper [8] are all valid also for an almost quaternion structure of the second kind.

Theorem 3.5 in the previous paper [8] which says that if [F, G]=0, [F, H]=0, then [F, F]=0 is also valid. Because to prove this, we have only to use (2.3). From the assumptions and (2.3), we have $G \land [F, F]=0$, from which, using $G^2=+1$, we have [F, F]=0.

Since Theorems $3.6 \sim 3.8$ in the previous paper [8] are also valid for an almost quaternion structure of the second kind, we have

THEOREM 2.1. For an almost quaternion structure (F, G, H) of the second kind, if two of six Nijenkuis tensors

$$[F, F], [G, G], [H, H], [G, H], [H, F], [F, G]$$

vanish, then the others vanish too.

§3. Affine connections in an almost quaternion manifold of the second kind.

As in the previous paper [8], we discuss here affine connections in an almost quaternion manifold of the second kind.

It is well known that, when a tensor field G of type (1,1) satisfying $G^2=1$ is given, there exists an affine connection $\not r$ such that $\not r G = 0$ and its torsion tensor is proportional to the Nijenhuis tensor [G, G] formed with G (see [7]). Indeed, if we introduce first of all a symmetric affine connection l^{\prime} in the manifold and define an affine connection V by its coefficients of connection

(3.1)
$$\Gamma_{ji}^{h} = \Gamma_{ji}^{h} + \frac{1}{4} (\mathring{\mathcal{V}}_{j} G_{i}^{t} + \mathring{\mathcal{V}}_{i} G_{j}^{t}) G_{l}^{h} - \frac{1}{4} (\mathring{\mathcal{V}}_{j} G_{l}^{h} - \mathring{\mathcal{V}}_{t} G_{j}^{h}) G_{i}^{t},$$

then we have

$$V_i G_i^h = 0.$$

(3.2)

$$\dot{\Gamma}^{h}_{ji} - \dot{\Gamma}^{h}_{ij} = -\frac{1}{8} [G, G]_{ji}^{h},$$

 $[G,G]_{ii}$ being components of the Nijenhuis tensor [G,G], where here and in the sequel Roman indices $a, b, c, \dots, h, i, j, \dots$ run over the range $\{1, 2, \dots, 2m\}$, 2m being the dimension of the manifold. The second equation of (3.2) shows that the connection \not{r} is symmetric if and only if [G, G] = 0.

We now prove

THEOREM 3.1. In order that there exists, in an almost quaternion manifold of the second kind with structure tensors F, G and H, a symmetric affine connection ∇ such that

$$\nabla F=0$$
, $\nabla G=0$, $\nabla H=0$,

it is necessary and sufficient that

$$[F, F] = 0, \quad [G, G] = 0.$$

Proof. We put

 $\Gamma^{h}_{ii} = \Gamma^{h}_{ii} + T_{ii}^{h},$ (3.3)

where Γ_{ji}^{h} are given by (3.1) and T_{ji}^{h} are defined by

$$T_{ji}{}^{h} = -\frac{1}{4} \{ F_{i}{}^{t} \vec{\mathcal{V}}_{i} F_{j}{}^{h} + (\vec{\mathcal{V}}_{j} F_{i}{}^{t}) F_{l}{}^{h} - H_{i}{}^{t} \vec{\mathcal{V}}_{i} H_{j}{}^{h} + (\vec{\mathcal{V}}_{i} H_{j}{}^{t}) H_{l}{}^{h} \}$$

$$+ \frac{1}{4} (G_{i}{}^{s} \vec{\mathcal{V}}_{s} F_{j}{}^{t} - G_{s}{}^{t} \vec{\mathcal{V}}_{i} F_{j}{}^{s}) H_{l}{}^{h} - \frac{1}{4} (\vec{\mathcal{V}}_{j} F_{i}{}^{t} + \vec{\mathcal{V}}_{i} F_{j}{}^{t}) F_{l}{}^{h},$$

(3.4)

$$T_{ji^{h}} = -\frac{1}{2} (\vec{\nu}_{j} F_{i}^{t}) F_{t^{h}} - \frac{1}{4} \{ (\vec{\nu}_{i} F_{j}^{t}) F_{t^{h}} + F_{i}^{t} \vec{\nu}_{i} F_{j^{h}} - (G_{i}^{t} H_{s}^{h} \vec{\nu}_{t} F_{j}^{s} - H_{i}^{t} \vec{\nu}_{t} H_{j^{h}}) \}.$$

Now, denoting by V_j the operator of covariant differentiation with respect to Γ_{ji}^h , we see that

$$\nabla_j G_i{}^h = \nabla_j G_i{}^h + T_{jt}{}^h G_i{}^t - T_{jt}{}^t G_t{}^h,$$

that is,

$$\nabla_j G_i^h = T_{jt}^h G_i^t - T_{ji}^t G_t^h$$

by virtue of $V_j G_i^h = 0$.

By a computation similar to that used in [8], we have

$$\nabla_{j}G_{i^{h}}=0$$

using
$$FG=H$$
, $GH=-F$, $HF=G$ instead of $FG=H$, $GH=F$, $HF=G$ in [8].
On the other hand, we have

(3.5)
$$\nabla_{j}F_{i}^{h} = \nabla_{j}F_{i}^{h} + T_{ji}^{h}F_{i}^{t} - T_{ji}^{t}F_{i}^{h}.$$

We substitute (3.4) into (3.5), then by a straightforward computation, we find

 $\nabla_j F_i^h = 0.$

We know that if we assume that [G,G]=0, then $\not V$ is a symmetric affine connection and consequently from (3.3) we have in this case

$$\Gamma^h_{ji} - \Gamma^h_{ij} = T_{ji}^h - T_{ij}^h.$$

On the other hand, we have from (3.4)

$$T_{ji^{h}} - T_{ij^{h}} = \frac{1}{8} \{ [F, F]_{ji^{h}} - [H, H]_{ji^{h}} - 2[F, G]_{ji^{t}} H_{i}^{h} \}.$$

Thus, if we assume that [F, F]=0 in addition to [G, G]=0, then by Theorem 2.1 we have

$$T_{ji^h} - T_{ij^h} = 0$$

and consequently V is a symmetric affine connection such that

$$\nabla F = 0$$
, $\nabla G = 0$

and hence

$$VH = V(FG) = 0.$$

The converse being evident, the proof of the theorem is completed.

Combining Theorems 2.1 and 3.1, we have

THEOREM 3.2. In order that there exists, in an almost quaternion manifold of the second kind with structure tensors F, G and H, a symmetric affine connection ∇ such that

$$\nabla F=0$$
, $\nabla G=0$, $\nabla H=0$,

it is necessary and sufficient that two of the Nijenhuis tensors

$$[F, F], [G, G], [H, H], [G, H], [H, F], [F, G]$$

vanish.

In the proof of Theorem 3.1, we have put

$$\Gamma^h_{ji} = \dot{\Gamma}^h_{ji} + T_{ji}^h,$$

where T_{ji}^{h} are given by (3.4). We shall now compute the torsion tensor of V assuming not necessarily [F, F] = 0, [G, G] = 0. Denoting by

$$(3.6) S_{ji}{}^h = \Gamma^h_{ji} - \Gamma^h_{ij}$$

the torsion tensor of V, we have from (3.2) and (3.3)

(3.7)
$$S_{ji^h} = -\frac{1}{8} [G, G]_{ji^h} + T_{ji^h} - T_{ij^h}$$

On the other hand, a straightforward computation shows that

$$T_{ji^{h}} - T_{ij^{h}} = \frac{1}{8} \left\{ [F, F]_{ji^{h}} - [G, G]_{ji^{h}} - [H, H]_{ji^{h}} - 2(H \wedge [F, G])_{ji^{h}} - \frac{1}{2} (F \wedge [G, G] \wedge F)_{ji^{h}} \right\}$$

Thus we have

(3.8)
$$S = \frac{1}{8} \left\{ [F, F] - 2[G, G] - [H, H] - 2H \wedge [F, G] - \frac{1}{2} F \wedge [G, G] \wedge F \right\},$$

where S is a tensor field of type (1, 2) with components S_{ji}^{h} .

On the other hand, we have from (2.6)

$$-\frac{1}{2}[G,G] \land F = [G,H] + G \land [F,G]$$

and consequently

$$-\frac{1}{2}F \wedge [G,G] \wedge F = F \wedge [G,H] + H \wedge [F,G].$$

Thus substituting this into (3.8), we find

$$(3.9) S = \frac{1}{8} \{ [F, F] - 2[G, G] - [H, H] + F \top [G, H] - H \top [F, G] \}.$$

Now we let F, -H, G play the roles of F, G, H respectively in the discussion above, then we obtain an affine connection 'V such that

$$VF=0$$
, $VH=0$, $VG=0$

and that the torsion tensor 'S of 'V is given by

(3.10)
$${}^{\prime}S = \frac{1}{8} \{ [F, F] - [G, G] - 2[H, H] - F \wedge [G, H] + G \wedge [F, H] \}.$$

Next, we let iG, iF, $H(i^2 = -1)$ play the roles of F, G, H respectively in the same discussion above. By the definition of V, its coefficients Γ_{ji}^h are still real even if iG, iF, H play the roles of F, G, H in (3.1), (3.3) and (3.4). We thus obtain an affine connection "V such that

$$^{\prime\prime}VG=0, \quad ^{\prime\prime}VF=0, \quad ^{\prime\prime}VH=0$$

and that

$$(3.11) ''S = \frac{1}{8} \{ 2[F, F] - [G, G] - [H, H] - G \land [F, H] + H \land [F, G] \}.$$

Thus if we define an affine connection by

$$\frac{1}{3}(\Gamma^h_{ji}+'\Gamma^h_{ji}+''\Gamma^h_{ji}),$$

 ${}^{\prime}\Gamma_{j_i}^h$ and ${}^{\prime\prime}\Gamma_{j_i}^h$ being respectively components of the affine connections ${}^{\prime}\Gamma$ and ${}^{\prime\prime}\Gamma$, the covariant derivatives of F, G and H with respect to this connection vanish and the torsion tensor of this affine connection is given by

$$\frac{1}{6}\{[F,F]-[G,G]-[H,H]\}.$$

§4. Integrability conditions.

We say that an almost quaternion structure (F, G, H) of the second kind is *integrable* if the manifold M admitting (F, G, H) can be covered by a system of coordinate neighborhoods in which components of F, G and H are all constant.

If we put

$$A = \frac{1}{2}(I-G), \qquad B = \frac{1}{2}(I+G)$$

then from FG+GF=0, we have FA=BF which shows that r(A)=r(B), r denoting

the rank. On the other hand, since A+B=I, AB=0 we have r(A)+r(B)=2m. Thus we see that

$$r(A) = r(B) = m.$$

Assume that [G,G]=0, then there exists a coordinate system with respect to which G has components of the form

$$(4.1) G = \begin{pmatrix} E & 0 \\ 0 & -E \end{pmatrix},$$

where E is the $m \times m$ unit matrix (see [3]).

We represent components of the tensor field F with respect to this coordinate system by

$$F = \begin{pmatrix} F_1 & F_2 \\ F_3 & F_4 \end{pmatrix},$$

where F_1, F_2, F_3 and F_4 are $m \times m$ matrices. Then from FG+GF=0, we find

$$F_1 = 0, \quad F_4 = 0$$

and from $F^2 = -1$

$$F_2F_3=F_3F_2=-E.$$

Thus F has the form

(4.2)
$$F = \begin{pmatrix} 0 & F' \\ F'' & 0 \end{pmatrix},$$

(4.3)
$$F'F'' = F''F' = -E.$$

We now consider the condition

$$(4.4) [F,F]=0.$$

If we represent components of F by

(4.5)
$$F = \begin{pmatrix} 0 & F_{\tilde{\lambda}^{\epsilon}} \\ F_{\lambda^{\epsilon}} & 0 \end{pmatrix},$$

then (4.3) can be written as

(4.6)
$$F_{\lambda}{}^{\bar{\alpha}}F_{\bar{\alpha}}{}^{\bar{\kappa}} = -\delta_{\lambda}{}^{\bar{\kappa}}, \qquad F_{\bar{\lambda}}{}^{\bar{\alpha}}F_{\alpha}{}^{\bar{\kappa}} = -\delta_{\bar{\lambda}}{}^{\bar{\kappa}}$$

and (4.4) as

(4.7)
$$\begin{aligned} \partial_{\mu}F_{\lambda}^{i} &-\partial_{\lambda}F_{\mu}^{i} = 0, \\ \partial_{\sigma}F_{\lambda}^{i} &-\partial_{\bar{\lambda}}F_{\sigma}^{i} = 0, \end{aligned}$$

 ∂_{μ} and $\partial_{\bar{\mu}}$ denoting $\partial/\partial x^{\mu}$ and $\partial/\partial x^{\bar{\mu}}$ respectively, where here and in the sequel Greek indices $\kappa, \lambda, \mu, \cdots$ run over the range $\{1, 2, \cdots, m\}$ and $\bar{\kappa}, \bar{\lambda}, \bar{\mu}, \cdots$ the range $\{m+1, m+2, \cdots, 2m\}$.

We have

PROPOSITION 4.1. The symmetric affine connection appearing in Theorem 3.2 has the following components with respect to a coordinate system in which G has components (4.1):

(4.8)
$$\Gamma^{\epsilon}_{\mu i} = -(\partial_{\mu} F_{i}^{a}) F_{a}^{c} + \Gamma^{\epsilon}_{a} + \Gamma^{\epsilon}_{a} + (\partial_{\mu} F_{i}^{a}) F_{a}^{c} + (\partial_{\mu} F_{i}^{a}) F_{a}^{c} + (\partial_{\mu} F_{i}^{a}) F_{i}^{c} + (\partial_{\mu} F_{i}^{a}) F$$

all the others being zero.

Proof. From (4.1) and

$$\nabla_j G_i^h = \partial_j G_i^h + \Gamma^h_{jt} G_i^t - \Gamma^t_{ji} G_t^h = 0,$$

we find that Γ_{ji}^{h} are all zero except $\Gamma_{\mu\lambda}^{\epsilon}$ and $\Gamma_{\bar{\mu}\bar{\lambda}}^{\bar{\epsilon}}$. On the other hand, from (4.5) and

 $\nabla_j F_i{}^h = \partial_j F_i{}^h + \Gamma^h_{it} F_i{}^t - \Gamma^t_{ji} F_i{}^h = 0,$

we find

$$\partial_{\bar{\mu}}F_{\bar{\lambda}}^{\kappa} - \Gamma^{\bar{\alpha}}_{\bar{\mu}\bar{\lambda}}F_{\bar{\alpha}}^{\kappa} = 0,$$

$$\partial_{\mu}F_{\lambda}^{\bar{\kappa}} - \Gamma^{\alpha}_{\mu\lambda}F_{\alpha}^{\bar{\kappa}} = 0,$$

from which, using (4.3),

$$\Gamma_{\mu\lambda}^{\kappa} = -(\partial_{\mu}F_{\lambda}^{\bar{\alpha}})F_{\bar{\alpha}}^{\kappa}, \qquad \Gamma_{\bar{\mu}\bar{\lambda}}^{\bar{\kappa}} = -(\partial_{\bar{\mu}}F_{\bar{\lambda}}^{\alpha})F_{\alpha}^{\bar{\kappa}}.$$

Thus the proposition is proved.

We denote by

$$R_{kji}{}^{h} = \partial_{k}\Gamma^{h}_{ji} - \partial_{j}\Gamma^{h}_{ki} + \Gamma^{h}_{ki}\Gamma^{t}_{ji} - \Gamma^{h}_{ji}\Gamma^{t}_{ki}$$

the curvature tensor of Γ_{ji}^{h} , then we have

PROPOSITION 4.2. The curvature tensor R of V appearing in Theorem 3.2 has the following components with respect to a coordinate system in which G has components (4.1):

(4.9)
$$\begin{aligned} R_{\bar{\nu}\mu\lambda}^{\ \epsilon} &= -R_{\mu\bar{\nu}\lambda}^{\ \epsilon} = \partial_{\bar{\nu}}\Gamma_{\mu\lambda}^{\ \epsilon},\\ R_{\nu\bar{\mu}\bar{\lambda}}^{\ \bar{\nu}} &= -R_{\bar{\mu}\nu\bar{\lambda}}^{\ \bar{\nu}} = \partial_{\nu}\Gamma_{\bar{\mu}\bar{\lambda}}^{\ \bar{\nu}}, \end{aligned}$$

Proof. From Proposition 4.1 and the definition of R_{kji}^{h} , we have

$$R_{\nu\mu\lambda}{}^{\kappa} = \partial_{\nu}\Gamma_{\mu\lambda}{}^{\kappa} - \partial_{\mu}\Gamma_{\nu\lambda}{}^{\kappa} + \Gamma_{\nu\omega}{}^{\kappa}\Gamma_{\mu\lambda}{}^{\omega} - \Gamma_{\mu\omega}{}^{\kappa}\Gamma_{\nu\lambda}{}^{\omega},$$

from which, substituting (4.7),

$$\begin{split} R_{\nu\mu\lambda}{}^{\epsilon} &= -\left(\partial_{\nu}\partial_{\mu}F_{\lambda}{}^{\bar{a}}\right)F_{\bar{a}}{}^{\epsilon} - \left(\partial_{\mu}F_{\lambda}{}^{\bar{a}}\right)\left(\partial_{\nu}F_{\bar{a}}{}^{\epsilon}\right) \\ &+ \left(\partial_{\mu}\partial_{\nu}F_{\lambda}{}^{\bar{a}}\right)F_{\bar{a}}{}^{\epsilon} + \left(\partial_{\nu}F_{\lambda}{}^{\bar{a}}\right)\left(\partial_{\mu}F_{\bar{a}}{}^{\epsilon}\right) + \left(\partial_{\nu}F_{\omega}{}^{\bar{a}}\right)F_{\bar{a}}{}^{\epsilon}\left(\partial_{\mu}F_{\lambda}{}^{\bar{\beta}}\right)F_{\bar{\beta}}{}^{\omega} \\ &- \left(\partial_{\mu}F_{\omega}{}^{\bar{a}}\right)F_{\bar{a}}{}^{\epsilon}\left(\partial_{\nu}F_{\lambda}{}^{\bar{\beta}}\right)F_{\bar{\beta}}{}^{\omega}, \end{split}$$

from which, using (4.3),

$$\begin{split} R_{\nu\mu\lambda}{}^{\kappa} &= -\left(\partial_{\mu}F_{\lambda}{}^{\tilde{\sigma}}\right)\left(\partial_{\nu}F_{\tilde{a}}{}^{\kappa}\right) + \left(\partial_{\nu}F_{\lambda}{}^{\tilde{\sigma}}\right)\left(\partial_{\mu}F_{\tilde{a}}{}^{\kappa}\right) \\ &- F_{\omega}{}^{\tilde{\sigma}}\left(\partial_{\nu}F_{\tilde{a}}{}^{\kappa}\right)\left(\partial_{\mu}F_{\lambda}{}^{\tilde{b}}\right)F_{\tilde{b}}{}^{\omega} + F_{\omega}{}^{\tilde{\sigma}}\left(\partial_{\mu}F_{\tilde{a}}{}^{\kappa}\right)\left(\partial_{\nu}F_{\lambda}{}^{\tilde{b}}\right)F_{\tilde{b}}{}^{\omega}, \end{split}$$

or again using (4.3),

 $R_{\nu\mu\lambda}^{\kappa}=0.$

Similarly we have

 $R_{\bar{\nu}\bar{\mu}\bar{\lambda}}^{\bar{\kappa}}=0.$

Also from Proposition 4.1 and the definition of R_{kji}^{h} , we can easily see that

$$\begin{split} R_{\bar{\nu}\mu\lambda}^{\ \kappa} &= - R_{\mu\bar{\nu}\lambda}^{\ \kappa} = \partial_{\bar{\nu}} \Gamma_{\mu\lambda}^{\ \kappa} \\ R_{\nu\bar{\mu}\bar{\lambda}}^{\ \bar{\kappa}} &= - R_{\bar{\mu}\nu\bar{\lambda}}^{\ \bar{\kappa}} = \partial_{\nu} \Gamma_{\bar{\mu}\bar{\lambda}}^{\ \bar{\kappa}} \end{split}$$

all the other R_{kji}^{h} being zero. Thus the Proposition is proved.

We now prove

THEOREM 4.1. A necessary and sufficient condition that an almost quaternion structure (F, G, H) of the second kind be integrable is that

$$[F, F] = 0, \quad [G, G] = 0, \quad R = 0,$$

where R is the curvature tensor of the symmetric affine connection appearing in Theorem 3.2.

Proof. The necessity being evident, we shall prove the sufficiency. Following the assumption [F, F]=0, [G, G]=0, we can choose a coordinate system in which the tensor field G has components (4.1) and consequently the tensor field F has components (4.2).

We are now going to find a coordinate system $\{y^h\}$ in which the components $\widetilde{G}_{i}{}^{h}$ of G in $\{y^h\}$ are still given by

(4.10)
$$\widetilde{G}_{i}{}^{h} = \begin{pmatrix} \delta_{i}^{\varepsilon} & 0\\ 0 & -\delta_{i}^{\varepsilon} \end{pmatrix}$$

and the components $\hat{F}_{i^{h}}$ of F in $\{y^{h}\}$ are given by

(4.11)
$$\widetilde{F}_{i}^{h} = \begin{pmatrix} 0 & C_{\overline{i}}^{\epsilon} \\ C_{\lambda}^{\overline{\epsilon}} & 0 \end{pmatrix},$$

where C's are constants satisfying

(4.12)
$$C_{\lambda}{}^{\bar{a}}C_{\bar{a}}{}^{\bar{s}} = -\delta_{\lambda}{}^{\bar{s}}, \qquad C_{\bar{\lambda}}{}^{\bar{a}}C_{\bar{a}}{}^{\bar{s}} = -\delta_{\bar{\lambda}}{}^{\bar{s}}.$$

If we put

then we have from (4.1) and (4.10)

$$\frac{\partial y^k}{\partial x^i} \widetilde{G}_k{}^h = \frac{\partial y^h}{\partial x^j} G_i{}^j,$$

which are equivalent to

$$\frac{\partial y^{\epsilon}}{\partial x^{\lambda}} = 0, \qquad \frac{\partial y^{\epsilon}}{\partial x^{\lambda}} = 0$$

and consequently the coordinate transformation (4.13) must be of the form

(4.14)
$$y^{\epsilon} = y^{\epsilon}(x^{\lambda}), \qquad y^{\bar{\epsilon}} = y^{\bar{\epsilon}}(x^{\bar{\lambda}}).$$

On the other hand, we have from (4.5) and (4.11)

$$\frac{\partial y^k}{\partial x^i} C_k{}^h = \frac{\partial y^h}{\partial x^j} F_i{}^j,$$

which are equivalent to

(4.15)
$$\frac{\partial y^{\tilde{\alpha}}}{\partial x^{\tilde{\lambda}}} C_{\tilde{\alpha}}^{\ \epsilon} = \frac{\partial y^{\epsilon}}{\partial x^{\alpha}} F_{\tilde{\lambda}}^{\ \alpha},$$
$$\frac{\partial y^{\alpha}}{\partial x^{\lambda}} C_{\alpha}^{\ \epsilon} = \frac{\partial y^{\tilde{\epsilon}}}{\partial x^{\tilde{\alpha}}} F_{\lambda}^{\ \tilde{\alpha}},$$

or to

(4.16)
$$\frac{\partial y^{\alpha}}{\partial x^{\lambda}} C_{\alpha}{}^{\bar{\mu}} = \frac{\partial y^{\bar{\mu}}}{\partial x^{\bar{\mu}}} F_{\lambda}{}^{\bar{\mu}}$$

by virtue of (4.6) and (4.12).

ALMOST QUATERNION STRUCTURES AND ALMOST TANGENT STRUCTURES 75

To eliminate constants C's, we differentiate (4.16) partially with respect to x^{μ} and take account of (4.14), then we obtain

$$\frac{\partial^2 y^{\alpha}}{\partial x^{\mu} \partial x^{\lambda}} C_{\alpha}{}^{\bar{z}} = \frac{\partial y^{\bar{z}}}{\partial x^{\bar{\alpha}}} (\partial_{\mu} F_{\lambda}{}^{\bar{\alpha}}),$$

from which, transvecting with $C_{\bar{s}}^{\omega}$ and using (4.12),

$$-\frac{\partial^2 y^{\omega}}{\partial x^{\mu} \partial x^{\lambda}} = \left(\frac{\partial y^{\bar{\epsilon}}}{\partial x^{\bar{\alpha}}} C_{\bar{\epsilon}}^{\omega}\right) (\partial_{\mu} F_{\lambda}^{\bar{\alpha}}),$$

or, using the first equation of (4.15),

$$\frac{\partial^2 y^{\omega}}{\partial x^{\mu} \partial x^{\lambda}} = - \frac{\partial y^{\omega}}{\partial x^{\nu}} (\partial_{\mu} F_{\lambda}{}^{\bar{a}}) F_{\bar{a}}{}^{\nu}.$$

Thus we have obtained a system of differential equations

(4.17)
$$\frac{\partial^2 y^{\kappa}}{\partial x^{\mu} \partial x^{\lambda}} = \frac{\partial y^{\kappa}}{\partial x^{\alpha}} \Gamma^{\alpha}_{\mu\lambda},$$

where $\Gamma^{\alpha}_{\mu\lambda}$ are given by (4.8). Similarly, we have

(4.18)
$$\frac{\partial^2 y^{\bar{i}}}{\partial x^{\bar{u}} \partial x^{\bar{\lambda}}} = \frac{\partial y^{\bar{i}}}{\partial x^{\bar{a}}} \Gamma^{\bar{a}}_{\mu\bar{\lambda}},$$

where $\Gamma^{\bar{\alpha}}_{\mu\bar{\lambda}}$ are given by (4.8).

But we assumed that R=0, which means that

$$\partial_{\bar{\nu}}\Gamma^{\epsilon}_{\mu\lambda}=0, \qquad \partial_{\nu}\Gamma^{\bar{\epsilon}}_{\bar{\mu}\bar{\lambda}}=0$$

and consequently that $\Gamma^{\epsilon}_{\mu\lambda}$ are functions of x^{ν} only and $\Gamma^{\epsilon}_{\mu\lambda}$ functions of x^{ν} only. Moreover we have

$$\begin{split} R_{\nu\mu\lambda}^{\ \epsilon} &= \partial_{\nu} \Gamma^{\epsilon}_{\mu\lambda} - \partial_{\mu} \Gamma^{\epsilon}_{\nu\lambda} + \Gamma^{\epsilon}_{\nu\alpha} \Gamma^{\alpha}_{\mu\lambda} - \Gamma^{\epsilon}_{\mu\alpha} \Gamma^{\alpha}_{\nu\lambda} = 0, \\ R_{\bar{\nu}\bar{\mu}}^{\ \epsilon} &= \partial_{\bar{\nu}} \Gamma^{\bar{\epsilon}}_{\bar{\mu}\bar{\lambda}} - \partial_{\bar{\mu}} \Gamma^{\bar{\epsilon}}_{\bar{\nu}\bar{\lambda}} + \Gamma^{\bar{\epsilon}}_{\bar{\nu}\bar{\alpha}} \Gamma^{\bar{\alpha}}_{\bar{\mu}\bar{\lambda}} - \Gamma^{\bar{\epsilon}}_{\bar{\mu}\bar{\alpha}} \Gamma^{\bar{\alpha}}_{\bar{\nu}\bar{\lambda}} = 0, \end{split}$$

which show that (4.17) and (4.18) are both completely integrable and admit solutions $y^{\epsilon} = y^{\epsilon}(x^{a}), y^{\bar{\epsilon}} = y^{\bar{\epsilon}}(x^{\bar{a}})$ such that

$$\left|\frac{\partial y^{\epsilon}}{\partial x^{\lambda}}\right| \approx 0, \qquad \left|\frac{\partial y^{\bar{\epsilon}}}{\partial x^{\bar{\lambda}}}\right| \approx 0$$

respectively.

Using these solutions, we effect a coordinate transformation. Then it is easily seen that the tensor G has components given by (4.10). Denoting by

(4.19)
$$\widetilde{F}_{i}{}^{h} = \begin{pmatrix} f_{\lambda}{}^{\kappa} & f_{\lambda}{}^{\kappa} \\ f_{\lambda}{}^{\bar{\kappa}} & f_{\lambda}{}^{\bar{\kappa}} \end{pmatrix},$$

the components of the tensor field F in $\{y^h\}$, we have

(4.20)
$$\frac{\partial y^k}{\partial x^i} f_k{}^h = \frac{\partial y^h}{\partial x^j} F_i{}^j,$$

from which we have

(4.21)
$$f_{\lambda}^{t} = 0, \quad f_{\bar{\lambda}}^{\bar{t}} = 0$$

and

(4.22)
$$\frac{\partial y^{\bar{a}}}{\partial x^{\bar{1}}} f^{\ s}_{\bar{a}} = \frac{\partial y^{\ s}}{\partial x^{\alpha}} F^{\ a}_{\bar{\lambda}},$$

(4.23)
$$\frac{\partial y^{\alpha}}{\partial x^{\lambda}} f_{\alpha}^{\ \bar{s}} = \frac{\partial y^{\bar{s}}}{\partial x^{\bar{a}}} F_{\lambda}^{\ \bar{a}}.$$

Since F_{i^h} satisfies (4.6), f_{i^h} satisfies

(4.24)
$$f_{\lambda}^{\bar{a}}f_{\bar{a}}^{\,\epsilon} = -\delta_{\lambda}^{\epsilon}, \qquad f_{\bar{\lambda}}^{a}f_{a}^{\,\bar{e}} = -\delta_{\bar{\lambda}}^{\bar{e}}.$$

We prove that the functions $f_{\bar{\lambda}}^{t}$ and $f_{\bar{\lambda}}^{t}$ are constant.

Differentiating (4.22) partially with respect to x^{μ} and taking account of (4.14), we have

$$\frac{\partial y^{\bar{\alpha}}}{\partial x^{\bar{\lambda}}}\partial_{\mu}f_{\bar{\alpha}}^{\ \epsilon} = \frac{\partial^2 y^{\epsilon}}{\partial x^{\mu}\partial x^{\alpha}}F_{\bar{\lambda}}^{\ \alpha} + \frac{\partial y^{\epsilon}}{\partial x^{\alpha}}\partial_{\mu}F_{\bar{\lambda}}^{\ \alpha},$$

from which, substituting (4.8) and (4.17),

$$-\frac{\partial y^{\bar{a}}}{\partial x^{\bar{\lambda}}}\partial_{\mu}f_{\bar{a}}^{\ \epsilon} = -\frac{\partial y^{\epsilon}}{\partial x^{\omega}}(\partial_{\mu}F_{a}{}^{\bar{b}})F_{\bar{b}}^{\ \omega}F_{\bar{\lambda}}^{\ \epsilon} + \frac{\partial y^{\epsilon}}{\partial x^{a}}\partial_{\mu}F_{\bar{\lambda}}^{\ \epsilon} = 0$$

and consequently

$$\partial_{\mu}f_{\bar{\alpha}}^{\kappa}=0.$$

Differentiating (4.22) partially with respect to $x^{\bar{\mu}}$ and taking account of (4.14), we find

$$-\frac{\partial^2 y^{\bar{a}}}{\partial x^{\bar{\mu}} \partial x^{\bar{\lambda}}} f_{\bar{a}}^{\ \kappa} + \frac{\partial y^{\bar{a}}}{\partial x^{\bar{\lambda}}} \partial_{\bar{\mu}} f_{\bar{a}}^{\ \kappa} = \frac{\partial y^{\kappa}}{\partial x^{\alpha}} (\partial_{\bar{\mu}} F_{\bar{\lambda}}^{\ \alpha}),$$

from which, substituting (4.8) and (4.18),

$$-\frac{\partial y^{\bar{a}}}{\partial x^{\bar{a}}}(\partial_{\bar{\mu}}F_{\bar{\lambda}}{}^{\beta})F_{\beta}{}^{\bar{a}}f_{\bar{a}}{}^{*}+\frac{\partial y^{\bar{a}}}{\partial x^{\bar{\lambda}}}\partial_{\bar{\mu}}f_{\bar{a}}{}^{*}=\frac{\partial y^{*}}{\partial x^{a}}(\partial_{\bar{\mu}}F_{\bar{\lambda}}{}^{a}),$$

or, using (4.23),

$$-\frac{\partial y^{\omega}}{\partial x^{\beta}}f_{\omega}^{\ \bar{a}}(\partial_{\bar{\mu}}F_{\bar{\lambda}}{}^{\beta})f_{\bar{a}}{}^{\kappa}+\frac{\partial y^{\bar{a}}}{\partial x^{\bar{\lambda}}}\partial_{\bar{\mu}}f_{\bar{a}}{}^{\kappa}=\frac{\partial y^{\epsilon}}{\partial x^{\alpha}}(\partial_{\bar{\mu}}F_{\bar{\lambda}}{}^{\alpha}),$$

and consequently

$$\frac{\partial y^{\bar{a}}}{\partial x^{\bar{\lambda}}}\partial_{\bar{\mu}}f_{\bar{a}}^{\ \kappa}=0,$$

that is

 $\partial_{\mu}f_{\bar{\alpha}}^{\kappa}=0.$

Thus we see that $f_{\bar{a}}^{*}$ are constant.

We can similarly prove that f_{α}^{i} are also constant. Thus the theorem is proved.

Combining Theorems 2.1 and 4.1, we have

THEOREM 4.2. A necessary and sufficient condition for an almost quaternion structure (F, G, H) of the second kind to be integrable is that two of Nijenhuis tensors

[F, F], [G, G], [H, H], [G, H], [H, F], [F, H]

vanish and R=0.

§ 5. Concomitants of nilpotent tensors of type (1, 1).

We consider, in this section, two tensor fields P and Q of type (1, 1) satisfying

(5.1)
$$P^2=0, \quad Q^2=0, \quad PQ+QP=1.$$

Putting L=M=P, N=Q in (1.4), we have

$$[P, PQ] + [P, PQ] = [P, P] \land Q + P \land [P, Q] + P \land [P, Q],$$

or

(5.2)
$$[P, PQ] = P \land [P, Q] + \frac{1}{2} [P, P] \land Q,$$

and putting L=N=P, M=Q in (1.4),

$$[P, QP] + [Q, P^2] = [P, Q] \land P + P \land [Q, P] + Q \land [P, P],$$

or

$$(5.3) \qquad [P,QP] = [P,Q] \land P + P \land [P,Q] + Q \land [P,P].$$

Since we have, from the third equation of (5.1),

$$[P, PQ] + [P, QP] = 0,$$

we have, from (5.2) and (5.3),

(5.5)
$$[P, PQ] = -\frac{1}{2}[P, Q] \land P - \frac{1}{2}Q \land [P, P] + \frac{1}{4}[P, P] \land Q$$

and

(5.6)
$$[P,Q] \land P + 2P \land [P,Q] + Q \land [P,P] + \frac{1}{2} [P,P] \land Q = 0.$$

Interchanging P and Q in (5.2), (5.3), (5.4), (5.5) and (5.6) above, we have respectively

(5.7)
$$[Q,QP] = Q \land [P,Q] + \frac{1}{2} [Q,Q] \land P,$$

$$(5.8) \qquad \qquad [Q, PQ] = [P, Q] \land Q + Q \land [P, Q] + P \land [Q, Q],$$

$$(5.9) [Q, PQ] + [Q, QP] = 0,$$

(5.10)
$$[Q, PQ] = \frac{1}{2} [P, Q] \land Q + \frac{1}{2} P \land [Q, Q] - \frac{1}{4} [Q, Q] \land P$$

and

(5.11)
$$[P,Q] \land Q + 2Q \land [P,Q] + P \land [Q,Q] + \frac{1}{2} [Q,Q] \land P = 0.$$

Now, putting L=M=N=P in (1.4), we find

 $(5.12) \qquad \qquad [P,P] \land P = -2P \land [P,P]$

and putting L=M=N=Q, we find

$$[Q,Q] \land Q = -2Q \land [Q,Q].$$

Also, putting L=PQ, M=P, N=Q in (1.4) and using $Q^2=0$, we find

$$(5.14) \qquad [PQ, PQ] = [P, PQ] \land Q + P \land [PQ, Q] + PQ \land [P, Q]$$

and putting L=QP, M=Q, N=P, we find

$$(5.15) \qquad \qquad [QP,QP] = [Q,QP] \land P + Q \land [QP,P] + QP \land [P,Q].$$

On the other hand, we have, from the third equation of (5.1),

$$[PQ, PQ] = [I - QP, I - QP] = [QP, QP]$$

and consequently, we have, from (5.14) and (5.15),

(5.16)
$$[PQ, PQ] = [QP, QP]$$
$$= \frac{1}{2} \{ [P, PQ] \land Q - Q \land [P, PQ] + [Q, QP] \land P$$
$$-P \land [Q, QP] + [P, Q] \}$$

and

(5.17)
$$[P, PQ] \land Q + Q \land [P, PQ] + P \land [Q, PQ] + [Q, PQ] \land P + 2PQ \land [P, Q] - [P, Q] = 0.$$

Now we have from (5.1)

$$(PQ)^2 = PQ,$$
 $(QP)^2 = QP,$ $(PQ)(QP) = (QP)(PQ) = 0,$
 $PQ + QP = 1,$

which show that PQ and QP are complementary projection operators and consequently define two complementary distributions. We call the distribution defined by the projection operator PQ the *horizontal distribution* and that defined by the projection operator QP the *vertical distribution*.

A vector X in the horizontal distribution, that is, a vector X satisfying PQX=X, or QPX=0 is said to be *horizontal* and a vector Y in the vertical distribution, that is, a vector Y satisfying QPY=Y, or PQY=0 said to be *vertical*.

Since QP(PX)=0 and P(PQX)=0 for an arbitrary vector X, the operator P transforms a vector into a horizontal vector and a horizontal vector into a zero vector.

Since PQ(QX)=0 and Q(QPX)=0 for an arbitrary vector X, the operator Q transforms a vector into a vertical vector and a vertical vector into a zero vector.

We here show that if two $2m \times 2m$ matrices P and Q satisfy (5.1), then the rank r(P) of P and that r(Q) of Q are both equal to m.

First of all if we put F=P-Q, then we have

$$PF = -PQ, \qquad FP = -QP, \qquad FQ = PQ$$

and $F^2 = -1$, from which we see that F is regular. Thus we have

$$r(P) = r(PQ) = r(QP) = r(Q).$$

Denoting by V^{2m} a 2*m*-dimensional vector space, we put

$$\Pi_1 = \{ V \in V^{2m} | PQV = V \},$$
$$\Pi_2 = \{ V \in V^{2m} | QPV = V \}.$$

Then, since PQ+QP=1, we have

 $V^{2m} = \Pi_1 + \Pi_2$ (direct sum)

and consequently we have

$$2m = \dim \Pi_1 + \dim \Pi_2$$

that is

$$r(PQ)+r(QP)=2m,$$

from which, using r(PQ) = r(QP),

$$r(PQ)=r(QP)=m.$$

Thus

r(P) = r(Q) = m.

We assume throughout this section that [Q, Q]=0. The reason why we use terminologies above and this assumption will appear in §7.

THEOREM 5.1. If [Q, Q] = 0, then the vector field

$$[QP, QP](X, Y)$$
 or $[PQ, PQ](X, Y)$

is vertical for arbitrary vector fields X and Y.

Proof. First of all we have from the assumption [Q, Q] = 0 and (5.7)

 $[Q, QP] = Q \land [P, Q],$

from which

 $PQ \land [Q, QP] = 0.$

On the other hand, from (5.15) we find

 $PQ \land [QP, QP] = PQ \land ([Q, QP] \land P) = (PQ \land [Q, QP]) \land P$

by virtue of (1.6), from which

 $PQ \land [QP, QP] = 0.$

Thus PQ[QP, QP](X, Y)=0, which shows that [QP, QP](X, Y) is a vertical vector field. Since [QP, QP]=[PQ, PQ], [PQ, PQ](X, Y) is also vertical.

COROLLARY 1. If [Q, Q] = 0, then the vertical distribution is integrable.

Proof. Let X and Y be arbitrary vector fields, then we have, by the definition of the Nijenhuis tensor,

$$[QPX, QPY] = \frac{1}{2}[QP, QP](X, Y) + QP[QPX, Y] + QP[X, QPY] - QP[X, Y].$$

Since [QP, QP](X, Y) is vertical by Theorem 5.1, the equation above shows that [QPX, QPY] is vertical and consequently the vertical distribution is integrable.

COROLLARY 2. If [Q, Q] = 0, a necessary and sufficient condition for the horizontal distribution to be integrable is that

[PQ, PQ] = 0.

Proof. A necessary and sufficient condition for the horizontal distribution to be integrable is that [PQX, PQY] is horizontal for arbitrary vector fields X and Y. But, we have, from the definition of the Nijenhuis tensor

$$[PQX, PQY] = \frac{1}{2} [PQ, PQ](X, Y) + PQ[PQX, Y] + PQ[X, PQY] - PQ[X, Y].$$

Since [PQ, PQ](X, Y) is always vertical by Theorem 5.1, a necessary and sufficient condition for [PQX, PQY] to be horizontal is the vanishing of [PQ, PQ](X, Y) for arbitrary vector fields X and Y. Thus the corollary is proved.

THEOREM 5.2. If [P,Q]=0 and [Q,Q]=0, then [PQ, PQ]=0.

Proof. We have, from the assumption and (5.7),

$$(5.18) [Q, QP] = 0,$$

and from (5.3)

(5.19)

Substituting (5.18) and (5.19) into (5.15), we find

$$[PQ, PQ] = [QP, QP]$$
$$= Q \land (Q \land [P, P])$$
$$= Q^2 \land [P, P]$$
$$= 0,$$

 $[P, QP] = Q \land [P, P].$

which proves the theorem.

Combining Theorem 5.2 and Corollary 2 to Theorem 5.1, we have

COROLLARY 1. If [P,Q]=0 and [Q,Q]=0, then the horizontal distribution is integrable.

We have also

THEOREM 5.3. If [P, P] = 0 and [Q, Q] = 0, then we have [P, Q] = 0.

Proof. From (5.6) and [P, P] = 0, we have

 $(5.20) \qquad \qquad [P,Q] \land P = -2P \land [P,Q]$

and from (5.11) and [Q, Q] = 0

 $(5.21) [P,Q] \land Q = -2Q \land [P,Q].$

We find, from (5.2) and [P, P]=0,

and, from (5.2) and [P, P] = 0,

 $[P, PQ] \land Q = (P \land [P, Q]) \land Q$ $= P \land ([P, Q] \land Q)$

and consequently using (5.21)

 $(5.23) \qquad \qquad [P,PQ] \land Q = -2PQ \land [P,Q].$

Similarly, we have, from (5.7) and [Q, Q] = 0,

$$P \land [Q, QP] = PQ \land [P, Q]$$

or

$$(5.24) P \land [Q, PQ] = -PQ \land [P, Q]$$

and

$$[Q, QP] \land P = (Q \land [P, Q]) \land P$$
$$= Q \land ([P, Q] \land P)$$

or using (5.20)

(5. 25)
$$[Q, QP] \land P = -2QP \land [P, Q],$$
$$[Q, PQ] \land P = 2QP \land [P, Q].$$

Substituting (5.22), (5.23), (5.24) and (5.25) into (5.17), we find

 $-2PQ \land [P,Q] + QP \land [P,Q] - PQ \land [P,Q] + 2QP \land [P,Q] + 2PQ \land [P,Q] - [P,Q] = 0,$ that is, using QP-1=-PQ,

$$PQ \land [P, Q] - QP \land [P, Q] = 0,$$

from which, using $(PQ)^2 = PQ$, $(QP)^2 = QP$, (PQ)(QP) = (QP)(PQ) = 0, we find PQ = [P, Q] = 0, QP = [P, Q] = 0. ALMOST QUATERNION STRUCTURES AND ALMOST TANGENT STRUCTURES 83

Thus, adding these equations and remembering PQ+QP=1, we have [P,Q]=0, which proves the theorem.

Thus combining Corollary 1 to Theorem 5.2 and this theorem, we have

COROLLARY. If [P, P]=0 and [Q, Q]=0, then the horizontal distribution is integrable.

We also have

THEOREM 5.4. If [P,Q] is vertical, that is, [P,Q](X, Y) is vertical for arbitrary vector fields X and Y, and [Q,Q]=0, then we have

[PQ, PQ] = 2[P, Q].

Proof. Since [P,Q](X,Y) is vertical for arbitrary vector fields, we have $[P,Q]=(QP) \land [P,Q]$. Substituting this and [Q,Q]=0 into (5.7), we find

$$(5.26)$$
 $[Q, QP] = 0.$

On the other hand, from (5.2) and $[P,Q] = (QP) \land [P,Q]$, we have

(5.27)
$$Q \land [P, PQ] = [P, Q] + \frac{1}{2} Q \land ([P, P] \land Q),$$

and from (5.6)

$$Q \land ([P,Q] \land P) + 2QP \land [P,Q] + \frac{1}{2}Q \land ([P,P] \land Q) = 0,$$
$$(Q \land [P,Q]) \land P + 2(1-PQ) \land [P,Q] + \frac{1}{2}Q \land [P,P] \land Q = 0,$$

or, using $[P, Q] = (QP) \land [P, Q]$,

 $Q \land [P, P] \land Q = -4[P, Q].$

From (5.27) and (5.28), we find

From $QP \land [P, Q] = [P, Q]$, (5.15) and (5.26), we have

$$[PQ, PQ] = [QP, QP]$$
$$= Q \land [QP, P] + [P, Q]$$

or using (5.29)

$$[PQ, PQ] = 2[P, Q],$$

which proves the theorem.

§ 6. Relations between (F, G, H) and (P, Q).

We first suppose that there are given, in a differentiable manifold, two tensor fields P and Q of type (1,1) satisfying (5.1). Then we can easily verify that tensor fields F, G, H of type (1,1) defined by

$$(6.1) F=P-Q, G=P+Q, H=FG=PQ-QP$$

satisfy (2.1) and consequently define an almost quaternion structure of the second kind.

By a straightforward computation, we have

- [F, F] = [P, P] 2[P, Q] + [Q, Q],
- (6.3) [G, G] = [P, P] + 2[P, Q] + [Q, Q],

$$[F, G] = [P, P] - [Q, Q],$$

- (6.5) [F, H] = 2[P, PQ] + 2[Q, QP],
- (6.6) [G, H] = 2[P, PQ] 2[Q, QP],
- (6.7) [H, H] = 4[PQ, PQ].

From Corollary 2 to Theorem 5.1 and (6.7), we have

THEOREM 6.1. If [Q, Q]=0, a necessary and sufficient condition for the horizontal distribution to be integrable is that [H, H]=0.

We now prove

THEOREM 6.2. A necessary and sufficient condition for the almost quaternion structure (F, G, H) of the second kind defined by (6.1) to be integrable is that

 $[P, P] = 0, \quad [P, Q] = 0, \quad [Q, Q] = 0,$

and R=0, R being the curvature tensor appearing in Theorem 4.1.

Proof. Suppose first that the almost quaternion structure (F, G, H) of the second kind defined by (6.1) is integrable, then we have

 $[F, F] = 0, \quad [F, G] = 0, \quad [G, G] = 0$

and consequently, we have, from (6.2), (6.3) and (6.4),

 $[P, P] = 0, \quad [P, Q] = 0, \quad [Q, Q] = 0.$

Conversely, if these equations are satisfied, then (6.2) and (6.3) show that [F, F]=0 and [G, G]=0. Thus by Theorem 4.1, the almost quaternion structure (F, G, H) of the second kind is integrable.

Combining Theorems 6.1 and 6.2, we have

COROLLARY. If the almost quaternion structure (F, G, H) of the second kind defined by (6.1) is integrable, then the horizontal distribution is integrable.

We next suppose that there is given, in a differentiable manifold, an almost quaternion structure (F, G, H) of the second kind. Then we can easily see that tensor fields P and Q of type (1, 1) defined by

(6.8)
$$P = \frac{1}{2}(F+G), \quad Q = -\frac{1}{2}(F-G)$$

satisfy (5.1). Thus P and Q define two complementary projection operators PQ and QP which are given by

(6.9)
$$PQ = \frac{1}{2}(1-H), \quad QP = \frac{1}{2}(1+H).$$

Using (6.8) and (6.9), we find

(6.10)
$$[P, P] = \frac{1}{4} \{ [F, F] + 2[F, G] + [G, G] \},\$$

(6.11)
$$[P,Q] = -\frac{1}{4} \{ [F, F] - [G, G] \},$$

(6.12)
$$[Q, Q] = \frac{1}{4} \{ [F, F] - 2[F, G] + [G, G] \},\$$

(6.13)
$$[P, PQ] = -\frac{1}{4} \{ [G, H] + [H, F] \},\$$

(6.14)
$$[Q, QP] = \frac{1}{4} \{ [G, H] - [H, F] \},$$

(6.15)
$$[PQ, PQ] = \frac{1}{4}[H, H].$$

In the remaining part of this section we assume that [Q, Q]=0. We first have

THEOREM 6.3. Under the assumption [Q, Q]=0, [F, F]=0 implies [H, H]=0.

Proof. From (6.2), [Q, Q] = 0 and [F, F] = 0, we have

$$[P, P] = 2[P, Q]$$

and consequently, from (6.3) and (6.4), we find

$$[G,G]=2[P,P]$$
 and $[F,G]=[P,P]$

respectively, from which

$$(6.16) [G,G]=2[F,G].$$

Thus from (2.5) and (6.16), we have, using [F, F] = 0,

$$[G, G] \land F = -2F \land [G, G].$$

Also, from (2.2) and (6.16), we have, using [F, F] = 0,

(6.18)
$$[H, F] = \frac{1}{2} F \wedge [G, G],$$

and, from (2.6) and (6.16),

$$[G,H] = -\frac{1}{2}G \times [G,G] - \frac{1}{2}[G,G] \times F,$$

or, using (6.17),

(6.19)
$$[G, H] = -\frac{1}{2}G \wedge [G, G] + F \wedge [G, G].$$

Substituting [F, F]=0, (6.16), (6.18) and (6.19) into (2.10), we find

$$[H,H] = \frac{1}{2} F \times [G,G] \times G + \frac{1}{2} H \times [G,G]$$
$$-\frac{1}{2} F G \times [G,G] - [G,G],$$

 $[H,H] = -H \land [G,G] - [G,G].$

or, using (2.15),

Since $H^2=1$, we have, from (6.20),

(6.21)
$$H \land [H, H] = [H, H].$$

But, from H=PQ-QP and PQ+QP=1, we have H=2PQ-1 and consequently substituting this into (6.21), we find

$$(6.22) PQ \top [PQ, PQ] = [PQ, PQ].$$

On the other hand, following Theorem 5.1, under the assumption [Q, Q]=0, the vector [PQ, PQ](X, Y) is vertical for arbitrary vector fields X and Y and consequently

$$PQ \land [PQ, PQ] = 0,$$

thus, from (6.22) we have [PQ, PQ]=0, which proves the theorem,

ALMOST QUATERNION STRUCTURES AND ALMOST TANGENT STRUCTURES 87

Combining Corollary 2 to Theorem 5.1 and Theorem 6.3, we have

COROLLARY 1. Under the assumption [Q, Q]=0, a necessary and sufficient condition for the horizontal distribution to be integrable is that [F, F]=0.

We also have, from Theorems 4.1 and 6.3,

COROLLARY 2. Under the assumption [Q, Q] = 0, in order for the almost quaternion structure (F, G, H) of the second kind defined by (6.1) to be integrable, it is necessary and sufficient that [F, F] = 0 and R = 0.

Theorem 6.2 and this corollary give

COROLLARY 3. Under the assumption [Q, Q] = 0, [F, F] = 0 is equivalent to [P, P] = 0, [P, Q] = 0.

We further prove

THEOREM 6.4. If [P,Q]=0 and [Q,Q]=0, then [F,F]=0.

Proof. From the assumptions, (6.2), (6.3) and (6.4), we have

(6.23) [F, F] = [G, G] = [F, G].

Substituting this into (2.2), we find

$$[H,F] = F \land [F,F] + \frac{1}{2} [G,G] \land G,$$

or using (2.15)

$$[H, F] = F \land [F, F] - G \land [G, G].$$

Similarly we have, from (2.6) and (2.14),

$$[G,H] = -G \wedge [G,G] - \frac{1}{2}[F,F] \wedge F,$$

this is,

$$[G,H] = F \land [F,F] - G \land [G,G],$$

and consequently we have

$$(6.24) \qquad [H,F] = [G,H] = F \land [F,F] - G \land [G,G].$$

Substituting (6.23) and (6.24) into (2.13), we find

$$-[F, F] - [G, G] + F \land [G, G] \land G - G \land [G, G] \land G$$
$$+GF \land [F, F] - [G, G] + F \land [F, F] \land F - G \land [F, F] \land F$$
$$-[F, F] - FG \land [G, G] + 2H \land [F, F] = 0,$$

from which, using (2.14) and (2.15),

$$-[F, F] - [G, G] - 2H \times [G, G] + 2[G, G]$$
$$-H \times [F, F] - [G, G] + 2[F, F] - 2H \times [F, F]$$
$$-[F, F] - H \times [G, G] + 2H \times [F, F] = 0,$$

from which

$$H \land [F, F] = 0.$$

But, since $H^2=1$, we have from this equation

$$[F, F] = 0.$$

Equation (6.2) and this theorem give

COROLLARY 1. If [P,Q]=0 and [Q,Q]=0, then [P,P]=0.

From Theorem 5.3 and this corollary, we have

COROLLARY 2. Under the assumption [Q, Q] = 0, [P, P] = 0 is equivalent to [P, Q] = 0.

§7. Tangent bundles.

Suppose now that the manifold is the tangent bundle T(M) of an *n*-dimensional differentiable manifold M of class C^{∞} . It is well known that there exists a tensor field Q of type (1, 1) which has components of the form

with respect to the so-called induced coordinate system [5, 6, 9, 10], E being the unit matrix and Q satisfies $Q^2=0$.

We first prove

THEOREM 7.1. If there exists in T(M) a tensor field P of type (1,1) such that

$$P^2=0, \quad PQ+QP=1,$$

then P has components of the form

(7.2)
$$P = \begin{pmatrix} \Gamma & E \\ -\Gamma^2 & -\Gamma \end{pmatrix}$$

with respect to the induced coordinate system, Γ being an $n \times n$ matrix.

ALMOST QUATERNION STRUCTURES AND ALMOST TANGENT STRUCTURES 89

Conversely, tensor fields P and Q in T(M) having components of the form

(7.3)
$$P = \begin{pmatrix} \Gamma & E \\ -\Gamma^2 & -\Gamma \end{pmatrix}, \quad Q = \begin{pmatrix} 0 & 0 \\ E & 0 \end{pmatrix}$$

with respect to the induced coordinate system respectively satisfy

 $P^2 = 0$, $Q^2 = 0$, PQ + QP = 1.

Proof. We put

$$P = \begin{pmatrix} \Gamma_1 & \Gamma_2 \\ \Gamma_3 & \Gamma_4 \end{pmatrix},$$

where Γ_1 , Γ_2 , Γ_3 and Γ_4 are $n \times n$ matrices. Then from PQ+QP=1, that is,

$$\begin{pmatrix} \Gamma_1 & \Gamma_2 \\ \Gamma_3 & \Gamma_4 \end{pmatrix} \begin{pmatrix} 0 & 0 \\ E & 0 \end{pmatrix} + \begin{pmatrix} 0 & 0 \\ E & 0 \end{pmatrix} \begin{pmatrix} \Gamma_1 & \Gamma_2 \\ \Gamma_3 & \Gamma_4 \end{pmatrix} = \begin{pmatrix} E & 0 \\ 0 & E \end{pmatrix},$$

we have

$$\begin{pmatrix} \Gamma_2 & 0 \\ \Gamma_4 + \Gamma_1 & \Gamma_2 \end{pmatrix} = \begin{pmatrix} E & 0 \\ 0 & E \end{pmatrix},$$

from which

$$\Gamma_2 = E, \qquad \Gamma_4 = -\Gamma_1$$

Thus P must be of the form

$$P = \begin{pmatrix} \Gamma & E \\ \Gamma' & -\Gamma \end{pmatrix},$$

where Γ and Γ' are $n \times n$ matrices.

From $P^2=0$, we have

$$\begin{pmatrix} \Gamma^2 + \Gamma' & 0 \\ \Gamma'\Gamma - \Gamma\Gamma' & \Gamma^2 + \Gamma' \end{pmatrix} = \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix},$$

from which we have

$$\Gamma^2 + \Gamma' = 0, \qquad \Gamma' \Gamma - \Gamma \Gamma' = 0,$$

that is, $\Gamma' = -\Gamma^2$, and consequently P is of the form

$$P = \begin{pmatrix} \Gamma & E \\ -\Gamma^2 & -\Gamma \end{pmatrix}.$$

The converse is easy to check.

If the manifold M admits a linear connection or a non-linear connection [4], we can construct P given in Theorem 7.1 and P and Q satisfy $P^2=0$, $Q^2=0$, PQ+QP=1. Moreover the tensor field Q satisfies [Q,Q]=0. This is the reason why we have assumed [Q,Q]=0 in §5 and §6. Theorems in §5 and §6 we proved under the assumption [Q,Q]=0 are consequently valid in this section too.

It might be interesting to give the integrability condition of the horizontal distribution in terms of the induced coordinate system.

We first note that the complementary projection operators PQ and QP discussed in §5 have components of the form

(7.4)
$$PQ = \begin{pmatrix} E & 0 \\ -\Gamma & 0 \end{pmatrix}$$
 and $QP = \begin{pmatrix} 0 & 0 \\ \Gamma & E \end{pmatrix}$

respectively. Let a vector X in T(M) have components

$$X = \begin{pmatrix} X^h \\ X^{\bar{h}} \end{pmatrix}$$

with respect to an induced coordinate system $(x^h, x^{\bar{h}})$, where here and in the sequel the indices h, i, j, k, \cdots run over the range $\{1, 2, \cdots, n\}$ and the indices $\bar{h}, \bar{i}, \bar{j}, \bar{k}, \cdots$ the range $\{n+1, n+2, \cdots, 2n\}$. If X is a horizontal vector, that is, a vector in the horizontal distribution, then we have

$$QPX = \begin{pmatrix} 0 & 0 \\ \Gamma & E \end{pmatrix} \begin{pmatrix} X^{\hbar} \\ X^{\bar{h}} \end{pmatrix} = 0,$$

that is

 $X^{\bar{h}} + \Gamma^{h}_{i} X^{i} = 0,$

 Γ_{i}^{h} being components of Γ . Thus a horizontal vector X has components of the form

(7.4)
$$X = \begin{pmatrix} X^h \\ -\Gamma_i^h X^i \end{pmatrix}.$$

Let a vector Y in T(M) have components

$$Y = \left(\begin{array}{c} Y^h \\ Y^{\bar{h}} \end{array}\right)$$

with respect to the induced coordinate system. If Y is a vertical vector, that is, a vector in the vertical distribution, then we have

$$PQY = \begin{pmatrix} E & 0 \\ \Gamma & 0 \end{pmatrix} \begin{pmatrix} Y^h \\ Y^{\bar{h}} \end{pmatrix} = 0,$$

that is, $Y^{\hbar}=0$. Thus a vertical vector Y has components of the form

(7.5)
$$Y = \begin{pmatrix} 0 \\ Y^{\bar{h}} \end{pmatrix}.$$

We have, for a general vector X,

$$PX = \begin{pmatrix} \Gamma & E \\ -\Gamma^2 & -\Gamma \end{pmatrix} \begin{pmatrix} X^h \\ X^{\bar{h}} \end{pmatrix} = \begin{pmatrix} X^{\bar{h}} + \Gamma^h_i X^i \\ -\Gamma^h_k (X^{\bar{k}} + \Gamma^k_i X^i) \end{pmatrix},$$

which shows that the operator P transforms a vector into a horizontal vector and a horizontal vector into a zero vector, the fact which we stated in §5.

Also, we have, for a general vector Y,

$$QY = \begin{pmatrix} 0 & 0 \\ E & 0 \end{pmatrix} \begin{pmatrix} Y^{\hbar} \\ Y^{\bar{\hbar}} \end{pmatrix} = \begin{pmatrix} 0 \\ Y^{\hbar} \end{pmatrix},$$

which shows that the operator Q transforms a vector into a vertical vector and a vertical vector into a zero vector, the fact which we also stated in §5.

Since the horizontal distribution is given by

$$(7.5) dx^{\hbar} + \Gamma^{h}_{j} dx^{j} = 0$$

in terms of the induced coordinate system $(x^{\hbar}, x^{\overline{h}})$, the integrability condition of the horizontal distribution is given by [4]

(7.6)
$$R_{kj}{}^{h}=0,$$

where

(7.7)
$$R_{kj}{}^{h} = \partial_{k}\Gamma_{j}{}^{h} - \partial_{j}\Gamma_{k}{}^{h} + \Gamma_{kt}{}^{h}\Gamma_{j}{}^{t} - \Gamma_{jt}{}^{h}\Gamma_{k}{}^{t}$$

and

$$\Gamma^{h}_{kt} = \partial_{\bar{t}} \Gamma^{h}_{k}, \qquad \partial_{k} = \partial/\partial x^{k}, \qquad \partial_{\bar{t}} = \partial/\partial x^{\bar{t}}.$$

We have

THEOREM 7.2. The vector field

[PQ, PQ](X, Y)

is vertical for arbitrary vector fields X and Y and

[PQ, PQ] = 0

is equivalent to

$$R_{kj}^{h}=0.$$

Proof. The theorem follows from Theorem 5.1, Corollaries 1 and 2, but we shall give here a proof in terms of induced coordinate system.

Putting

$$X \! = \! \begin{pmatrix} X^{\hbar} \\ X^{\bar{\hbar}} \end{pmatrix}, \qquad Y \! = \! \begin{pmatrix} Y^{\hbar} \\ Y^{\bar{\hbar}} \end{pmatrix}$$

and using $(PQ)^2 = PQ$, we have

$$[PQ, PQ](X, Y)$$

$$=[PQX, PQY] - PQ[PQX, Y] - PQ[X, PQY] + PQ[X, Y]$$

$$=\left[\begin{pmatrix} X^{h} \\ -\Gamma_{k}{}^{h}X^{k} \end{pmatrix}, \begin{pmatrix} Y^{h} \\ -\Gamma_{j}{}^{h}Y^{j} \end{pmatrix}\right] - \begin{pmatrix} E & 0 \\ -\Gamma & 0 \end{pmatrix} \left[\begin{pmatrix} X^{h} \\ -\Gamma_{k}{}^{h}X^{k} \end{pmatrix}, \begin{pmatrix} Y^{h} \\ Y^{h} \end{pmatrix}\right]$$

$$- \begin{pmatrix} E & 0 \\ -\Gamma & 0 \end{pmatrix} \left[\begin{pmatrix} X^{h} \\ X^{h} \end{pmatrix}, \begin{pmatrix} Y^{h} \\ -\Gamma_{j}{}^{h}Y^{j} \end{pmatrix}\right] + \begin{pmatrix} E & 0 \\ -\Gamma & 0 \end{pmatrix} \left[\begin{pmatrix} X^{h} \\ X^{h} \end{pmatrix}, \begin{pmatrix} Y^{h} \\ Y^{h} \end{pmatrix}\right]$$

from which, by a straightforward computation,

$$[PQ, PQ](X, Y) = \begin{pmatrix} 0 \\ -R_{kj}{}^{h}X^{k}Y^{j} \end{pmatrix},$$

which proves the theorem.

We have proved in §5 (see, Corollary 1 to Theorem 5.2 and Corollary to Theorem 5.3) that [P, P]=0, [Q, Q]=0, or [P, Q]=0, [Q, Q]=0 are sufficient conditions for the horizontal distribution to be integrable, but they are not necessary in general. The next theorem gives an explanation of this situation.

THEOREM 7.3. The vector field [P,Q](X, Y) is vertical for arbitrary vector fields X and Y if and only if

(7.8)
$$\Gamma^h_{ji} - \Gamma^h_{ij} = 0$$

and vanishes if and only if

(7.9)
$$\Gamma_{ji}^{h} - \Gamma_{ij}^{h} = 0 \quad and \quad R_{kj}^{h} = 0.$$

Proof. Putting

$$X = \begin{pmatrix} X^{h} \\ X^{\bar{h}} \end{pmatrix}, \qquad Y = \begin{pmatrix} Y^{h} \\ Y^{\bar{h}} \end{pmatrix}$$

$$\begin{split} [P,Q](X,Y) &= [PX,QY] - P[QX,Y] - Q[X,PY] \\ &+ [QX,PY] - Q[PX,Y] - P[X,QY] + [X,Y] \\ &= \left[\begin{pmatrix} X^{\bar{h}} + \Gamma^{\bar{h}}_{\bar{k}} X^{\bar{k}} \\ -\Gamma^{\bar{h}}_{\bar{t}} (X^{\bar{t}} + \Gamma^{\bar{t}}_{\bar{k}} X^{\bar{k}}) \end{pmatrix}, \begin{pmatrix} 0 \\ Y^{\bar{h}} \end{pmatrix} \right] - \begin{pmatrix} \Gamma & E \\ -\Gamma^{2} & -\Gamma \end{pmatrix} \left[\begin{pmatrix} 0 \\ X^{\bar{h}} \end{pmatrix}, \begin{pmatrix} Y^{\bar{h}} \\ T^{\bar{h}} \end{pmatrix} \right] \\ &- \begin{pmatrix} 0 & 0 \\ E & 0 \end{pmatrix} \left[\begin{pmatrix} X^{\bar{h}} \\ X^{\bar{h}} \end{pmatrix}, \begin{pmatrix} Y^{\bar{h}} + \Gamma_{j^{\bar{h}}} Y^{j} \\ -\Gamma^{\bar{h}}_{\bar{t}} (Y^{\bar{t}} + \Gamma^{\bar{t}}_{j} Y^{j}) \end{pmatrix} \right] \\ &+ \left[\begin{pmatrix} 0 \\ X^{\bar{h}} \end{pmatrix}, \begin{pmatrix} Y^{\bar{h}} + \Gamma_{j^{\bar{h}}} Y^{j} \\ -\Gamma^{\bar{h}}_{\bar{t}} (Y^{\bar{t}} + \Gamma_{j^{\bar{t}}} Y^{j}) \end{pmatrix} \right] \\ &- \begin{pmatrix} 0 & 0 \\ E & 0 \end{pmatrix} \left[\begin{pmatrix} X^{\bar{h}} + \Gamma_{k}^{\bar{h}} X^{\bar{k}} \\ -\Gamma_{\bar{t}}^{\bar{h}} (X^{\bar{t}} + \Gamma_{k^{\bar{t}}} X^{\bar{k}}) \end{pmatrix}, \begin{pmatrix} Y^{\bar{h}} \\ Y^{\bar{h}} \end{pmatrix} \right] \\ &- \begin{pmatrix} \Gamma & E \\ -\Gamma^{2} & -\Gamma \end{pmatrix} \left[\begin{pmatrix} X^{\bar{h}} \\ X^{\bar{h}} \end{pmatrix}, \begin{pmatrix} 0 \\ Y^{\bar{h}} \end{pmatrix} \right] + \left[\begin{pmatrix} X^{\bar{h}} \\ X^{\bar{h}} \end{pmatrix}, \begin{pmatrix} Y^{\bar{h}} \\ Y^{\bar{h}} \end{pmatrix} \right], \end{split}$$

from which, by a straightforward computation,

(7.10)
$$[P,Q](X, Y) = \begin{pmatrix} -S_{kj}X^{k}Y^{j} \\ -R_{kj}^{h}X^{k}Y^{j} + S_{kj}^{i}\Gamma_{t}^{h}X^{k}Y^{j} + \Gamma_{k}^{i}S_{tj}^{h}X^{k}Y^{j} \\ -\Gamma_{j}^{i}S_{tk}^{h}X^{k}Y^{j} + S_{kj}^{h}X^{k}Y^{j} - S_{kj}^{h}X^{\bar{k}}Y^{j} \end{pmatrix},$$

where

$$S_{kj}{}^{h} = \Gamma^{h}_{kj} - \Gamma^{h}_{jk},$$

which proves the theorem.

From Corollary 2 to Theorem 6.4 and Theorem 7.3, we have

THEOREM 7.4. In the tangent bundle, [P, P]=0 and [P, Q]=0 are equivalent and they are equivalent to (7.9).

Combining Corollary 3 to Theorem 6.3 and Theorem 7.3, we have

THEOREM 7.5. The almost complex structure F induced in the tangent bundle T(M) of a differentiable manifold M by F=P-Q is integrable if and only if (7.9) holds [1, 4, 6, 9].

BIBLIOGRAPHY

- [1] DOMBROWSKI, P., On the geometry of the tangent bundle. J. reine und angew. Math. 210 (1962), 73-88.
- [2] FRÖLICHER, A., AND A. NIJENHUIS, Theory of vector-valued differential forms, I. Proc. Kon. Ned. Akad. Wet., Amsterdam, A 59 (1956), 338-359.
- [3] HAANTJES, J., On X_m -forming sets of eigenvectors, Proc. Kon. Ned. Akad. Wet. Amsterdam, A 58 (1955), 158-162.
- [4] KANDATU, A., Tangent bundle of a manifold with a non-linear connection. Ködai Math. Sem. Rep. 18 (1966), 259-270.
- [5] SASAKI, S., On the differential geometry of tangent bundles of Riemannian manifolds. Tôhoku Math. J. 10 (1958), 338-354.
- [6] TACHIBANA, S., AND M. OKUMURA, On the almost complex structure of the tangent bundles of Riemannian spaces. Tôhoku Math. J. 14 (1962), 156-161.
- [7] WALKER, A.G., Connections for parallel distributions in the large, I; II. Quart. J. Math. Oxford (2), 6 (1955), 301-308; 9 (1958), 221-231.
- [8] YANO, K., AND M. AKO, Integrability conditions for almost quaternion structures. Hokkaido Math. J. 1 (1972) 63-86.
- [9] YANO, K., AND E. T. DAVIES, On the tangent bundles of Finsler and Riemannian manifolds. Rend. Circ. Mat. Palermo, Series 11, 12 (1963), 1-18.
- [10] YANO, K., AND S. ISHIHARA, Horizontal lifts of tensor fields and connections to tangent bundles. J. Math. and Mech. 16 (1967), 1015-1030.
- [11] YANO, K., AND S. KOBAYASHI, Prolongations of tensor fields and connections to tangent bundle, I; II. J. Math. Soc. Japan 18 (1966), 194-2 10; 236-246.
- [12] YANO, K., AND A. J. LEDGER, Linear connections on tangent bundles. J. London Math. Soc. 39 (1964), 495-500.

TOKYO INSTITUTE OF TECHNOLOGY AND UNIVERSITY OF ELECTRO-COMMUNICATIONS.